5 Simplify b2(b%) 2.
p2(b3)~2 = p2 . p3 =2 multiply exponents in (B2

= b2 ph~ 8 i%ﬁ%ﬁ%g:}'é%?y%
= pZ + (-6) Add exponer

s when mulliplving powers of
the sams ;%3 a5,

= p~4 Bimnplity,

=1 Write using only positive exponents.

Simplify (4%°)2.

4x3)? fwise sach factor o the second power.

42x5 Widtinly exponents of a power m seh B0 B Do

= 16x° | Shnplify.

Simplify (4xy%)?(x%)~°.

(4x2)2(x3) 3 = 42x2(3/?)? - (%)% Raise the three faciors to the
sacond power, :

(4 -

Multiply exponents of a power
raised 1o a power

tse the Commulative Property
ot Wultiplication.
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“Additional Examples

An object has a mass of 102 kg. The expression
102 - (3 x 1082 describes the amount of resting
energy in joules the object contains. Simplify the
expression. \
102 - (3 x 1082 = 102 - 32 - (1082 Raise each factor within
parentheses to the second power.
102 - 32 - 1016 Simplify (1092 |
= 32.10%2 - 10'® Uss the Commulative Property of
Multiplication.
= 32.102+t18  Add exponents of powers with
the same base.
=9 x 1018 Simplify.
Write in scientific notation.




